

OSCILLATION OF FIRST ORDER NONLINEAR NEUTRAL DIFFERENCE EQUATIONS

J. R. GRAEF*, E. THANDAPANI AND S. ELIZABETH

*Department of Mathematics, University of Tennessee at Chattanooga, Chattanooga,
TN 37403, USA
E-mail address: john-graef@utc.edu
Department of Mathematics, Periyar University, Salem 636 011, Tamilnadu, India

(Received 23 June 2005; accepted 14 November 2005)

In this paper, the authors establish the oscillation of the first order nonlinear neutral delay difference equation

$$\Delta(x_n + px_{n-r}) + q_n f(x_{n-k}) = 0$$

by comparing it with the second order non-neutral non-delay linear difference equation

$$\Delta^2 y_{n-1} + \frac{2(m+1)^m}{m^{m+1}} \left[Q_n - \frac{m^m}{(m+1)^{m+1}} \right] y_n = 0.$$

Here, $p > 1$, $\{q_n\}$ is a sequence of nonnegative real numbers, k and r are positive integers such that $m = k - r$ is positive, and $\{Q_n\}$ is a sequence of nonnegative real numbers related to the sequence $\{q_n\}$.

1. INTRODUCTION

Consider the neutral difference equation

$$\Delta(x_n + px_{n-r} + q_n f(x_{n-k})) = 0, \quad n = 0, 1, 2, \dots \quad \dots (1)$$

where $p \in (1, \infty)$, $\{q_n\}$ is a nonnegative sequence of real numbers, $f: \mathbb{R} \rightarrow \mathbb{R}$ is continuous, $uf(u) > 0$ for $u \neq 0$, $f(u)/u \geq M > 0$, k and r are positive integers, and $m = k - r > 0$. The forward difference operator Δ is defined as $\Delta x_n = x_{n+1} - x_n$ and $\Delta^2 x_n = \Delta(\Delta x_n)$. By a solution of equation (1), we mean a real sequence $\{x_n\}$ defined for $n \geq -\theta$, where $\theta = \max\{k, r\}$, and which satisfies equation (1) for $n \geq 0$. A solution $\{x_n\}$ of equation (1) is said to be nonoscillatory if the terms x_n are either eventually all positive or eventually all negative, and oscillatory otherwise.

¹Research supported in part by the University of Tennessee at Chattanooga Center of Excellence for Computer Applications.

For some time there has been an increasing interest in the study of oscillation and nonoscillation of solutions of neutral delay difference equations, and as recent examples we refer the reader to the survey monographs of Agarwal *et al.* [1]-[3], the papers [4]-[12], and the references contained therein. In a recent paper, Zhang and Zhou [11] proved some very interesting oscillation results for the first order linear delay difference equation

$$\Delta x_n + q_n x_{n-k} = 0, \quad n = 0, 1, 2, \dots, \quad \dots (2)$$

based on known oscillation results for the second order linear non-delay equation

$$\Delta^2 y_{n-1} + \frac{2(k+1)^k}{k^{k+1}} \left[q_n - \frac{k^k}{(k+1)^{k+1}} \right] y_n = 0, \quad n = 0, 1, 2, \dots \quad \dots (3)$$

In this paper, we show how this approach can also be used to obtain the oscillation of all solutions of the nonlinear neutral delay difference equation (1) by comparing it with a second order non-neutral non-delay linear equation.

2. SOME PRELIMINARY LEMMAS

In this section, we present some lemmas that will be used in the proof of our main results. The first lemma is a well-known result that compares a second order linear difference inequality to a corresponding equality.

Lemma 1 ([10]) — Assume that $\{a_n\}$ is a real sequence with $a_n \geq 0$. Then the difference inequality

$$\Delta^2 x_n + a_n x_{n-k} \leq 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the difference equation

$$\Delta^2 x_n + a_n x_{n-k} = 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution.

The next lemma is due to Zhang and Zhou.

Lemma 2 ([11, Lemma 5]) — Assume that $\{b_n\}$ is a real sequence with $b_n \geq 0$ and $b_n \neq 0$ for all large n . Let $\{v_n\}$ be an eventually positive solution of the equation

$$\Delta \left(v_n - \frac{1}{k} \sum_{i=n-k}^{n-1} v_i \right) + b_n v_{n-k} = 0$$

and set

$$u_n = v_n - \frac{1}{k} \sum_{i=n-k}^{n-1} v_i.$$

Then,

$$\Delta u_n \leq 0 \quad \text{and} \quad u_n > 0$$

for all large n .

Our next lemma provides some information about the behaviour of solutions of the nonlinear neutral eq. (1).

Lemma 3 — Let $\{x_n\}$ be a positive solution of eq. (1). Then, $z_n = x_n + px_{n-r}$ is positive, nonincreasing, and satisfies

$$x_{n-k} \geq \left(\frac{p-1}{p^2} \right) z_{n+r-k}$$

for all sufficiently large n .

PROOF : From our hypothesis, we see that $\{z_n\}$ is eventually positive, say for $n \geq N$, and from equation (1), we then have $\{z_n\}$ is nonincreasing for $n \geq N$. Now,

$$px_{n-r} = z_n - x_n, \quad \dots (4)$$

so

$$z_{n+r} = x_{n+r} + px_n.$$

Since $\{z_n\}$ is nonincreasing, we have

$$z_n \geq z_{n+r} \geq px_n$$

for $n \geq N+r$, and so (4) yields

$$p^2 x_{n-r} \geq pz_n - z_n.$$

Thus,

$$x_{n-r} \geq \frac{p-1}{p^2} z_n,$$

or

$$x_{n-k} \geq \frac{p-1}{p^2} z_{n+r-k}$$

for large n . □

3. OSCILLATION RESULTS

In this section, we first establish a comparison theorem that will be the basis for obtaining some new oscillation conditions for eq. (1).

Theorem 1 — Assume that

$$Q_n = \frac{M(p-1)}{p^2} q_n \geq \frac{m^m}{(m+1)^{m+1}} \text{ for all large } n. \quad \dots (5)$$

If every solution of the linear difference equation

$$\Delta^2 y_{n-1} + \frac{2(m+1)^m}{m^{m+1}} \left[Q_n - \frac{m^m}{(m+1)^{m+1}} \right] y_n = 0, \quad n = 0, 1, 2, \dots, \quad \dots (6)$$

is oscillatory, then every solution of the nonlinear neutral delay difference equation (1) is oscillatory.

PROOF : Assume that $\{x_n\}$ is an eventually positive solution of eq. (1) and let $z_n = x_n + px_{n-r}$. By Lemma 3, $\{z_n\}$ is eventually positive and nonincreasing, say for $n \geq N_1$ for some $N_1 \geq 0$. Also from Lemma 3, we have

$$x_{n-k} \geq \left(\frac{p-1}{p^2} \right) z_{n+r-k} \quad \dots (7)$$

for $n \geq N_2$, for some $N_2 \geq N_1$, so substituting into eq. (1) and using the fact that $f(u)/u \geq M > 0$ for $u \neq 0$, we obtain

$$\Delta z_n + M \left(\frac{p-1}{p^2} \right) q_n z_{n+r-k} \leq 0, \quad \dots (8)$$

or

$$\Delta z_n + Q_n z_{n-m} \leq 0 \quad \dots (9)$$

for $N \geq N_2$. Notice that in view of (5), there exists an integer $N_3 \geq N_2$ such that

$$a_n = \left(\frac{m+1}{m} \right)^{m+1} \left(Q_n - \frac{m^m}{(m+1)^{m+1}} \right) \geq 0, \quad \dots (10)$$

for $n \geq N_3$. If we set

$$v_n = \left(1 + \frac{1}{m} \right)^n z_n,$$

then $v_n > 0$ for $n \geq N_3$, and so from (9), we have

$$\Delta \left(v_n - \frac{1}{m} \sum_{i=n-m}^{n-1} v_i \right) + a_n v_{n-m} \leq 0 \quad \dots (11)$$

for $n \geq N_4 = N_3 + m$.

Now define

$$u_n = v_n - \frac{1}{m} \sum_{i=n-m}^{n-1} v_i. \quad \dots (12)$$

for $n \geq N_4$. Then, by Lemma 2, (11), and (12), there is an integer $N_5 \geq N_4 + m$ such that

$$u_n > 0 \quad \text{and} \quad \Delta u_n \leq 0 \quad \dots (13)$$

for $n \geq N_5$.

Now let $c = \frac{1}{2} \min\{v_n : N_5 - m \leq n \leq N_5\}$; we claim that

$$v_n > c \quad \dots (14)$$

for all $n \geq N_5 - m$. Obviously, (14) holds for $N_5 - m \leq n \leq N_5$, so if (14) does not hold for all $n \geq N_5 - m$, let $N = \inf\{n > N_5 : v_n \leq c\}$. Then $v_n > c$ for $N_5 - m \leq n \leq N$ and $v_N \leq c$. From (12) and (13), we have

$$c \geq v_N = u_N + \frac{1}{m} \sum_{i=N-m}^{N-1} v_i > c,$$

which is a contradiction, and so (14) holds.

Since $\{u_n\}$ is positive and nonincreasing, $u_n \rightarrow \sigma \geq 0$ as $n \rightarrow \infty$. If $\sigma = 0$, then there is an integer $N_6 \geq N_5$ such that $u_n < c/4$ for $n \geq N_6$. Hence, for any $N_7 \geq N_6$, we have

$$v_n > \frac{c}{2} \geq \frac{2}{m+1} \sum_{i=N_7}^{n+m} u_i \quad \text{for } n \in \{N_7, N_7 + 1, \dots, N_7 + m + 1\}.$$

If $\sigma > 0$, then $u_n \geq \sigma$ for $n \geq N_5$, so (12) and (14) imply

$$v_n \geq \sigma + \frac{1}{m} \sum_{i=n-m}^{n-1} v_i \geq \sigma + c$$

for $n \geq N_5$. By induction, we see that

$$v_n \geq j\sigma + c \text{ for } n \geq N_5 + (j-1)m, \quad j = 1, 2, \dots$$

Thus, $v_n \rightarrow \infty$ as $n \rightarrow \infty$, so there exists $N_8 \geq N_5$ such that

$$v_n > \frac{2}{m+1} \sum_{i=N_8}^{n+m} u_i \quad \text{for } n \in \{N_8, N_8+1, \dots, N_8+m+1\}.$$

Hence, in either case, for any $N_9 \geq N_5$,

$$v_n > \frac{2}{m+1} \sum_{i=N_9}^{n+m} u_i \quad \text{for } n \in \{N_9, N_9+1, \dots, N_9+m+1\}.$$

Next, we show that

$$v_n > \frac{2}{m+1} \sum_{i=N_9}^{n+m} u_i$$

for $n \geq N_9$. If this is not the case, let

$$\hat{N} = \inf \left\{ n \geq N_9 + m + 1 : v_n \leq \frac{2}{m+1} \sum_{i=N_9}^{n+m} u_i \right\}.$$

Then,

$$v_n > \frac{2}{m+1} \sum_{i=N_9}^{n+m} u_i \quad \text{for } n \in \{N_9, N_9+1, \dots, \hat{N}-1\}$$

and

$$v_{\hat{N}} \leq \frac{2}{m+1} \sum_{i=N_9}^{\hat{N}+m} u_i.$$

Then, (12) and (13) imply

$$\frac{2}{m+1} \sum_{i=N_9}^{\hat{N}+m} u_i \geq u_{\hat{N}} = u_{\hat{N}} + \frac{1}{m} \sum_{i=\hat{N}-m}^{\hat{N}-1} v_i$$

$$\begin{aligned}
 &> u_{\hat{N}} + \frac{2}{m(m+1)} \sum_{i=\hat{N}-m}^{\hat{N}-1} \sum_{j=N_9}^{i+m} u_j \\
 &\geq u_{\hat{N}} + \frac{2}{(m+1)} \sum_{i=N_9}^{\hat{N}+m} u_i \\
 &- \frac{2}{m(m+1)} u_{\hat{N}} \sum_{j=\hat{N}}^{\hat{N}+m} (i-\hat{N}) = \frac{2}{(m+1)} \sum_{i=N_9}^{\hat{N}+m} u_i,
 \end{aligned}$$

which is a contradiction. Thus, (15) holds and so

$$v_{n-m} > \frac{2}{m+1} \sum_{i=N_9}^n u_i \quad \dots (16)$$

for $n \geq N_9 + m$.

Finally, we set $Y_n = \sum_{i=N_9}^n u_i$. Then, $\Delta Y_{n-1} = u_n$ and $\Delta^2 Y_{n-1} = \Delta u_n$, so (11), (12), and

(16), yield

$$\Delta^2 Y_{n-1} + 2 \frac{(m+1)^m}{m^{m+1}} \left[Q_n - \frac{m^m}{(m+1)^{m+1}} \right] Y_n \leq 0 \quad \dots (17)$$

for $n \geq N_9 + m$. Lemma 1 implies that (6) has an eventually positive solution, and this contradiction completes the proof of the theorem. □

We will now show how the approach used here will allow us to obtain oscillation criteria for the first order nonlinear neutral delay eq. (1) by applying known oscillation criteria for second order non-neutral linear equations. First, we quote some well known oscillation results for second order linear difference equations.

Lemma 4 ([4]) — If

$$\liminf_{n \rightarrow \infty} n \sum_{i=n+1}^{\infty} a_i > \frac{1}{4},$$

then every solution of $\Delta^2 y_{n-1} + a_n y_n = 0$ oscillates.

Lemma 5 ([12]) — If

$$n \sum_{i=n+1}^{\infty} a_i \leq \frac{1}{4}$$

for all large n , then the equation $\Delta^2 y_{n-1} + a_n y_n = 0$ has a nonoscillatory solution.

One possible oscillation result is the following.

Theorem 2 — Suppose that condition (5) holds.

(i) If

$$\liminf_{n \rightarrow \infty} n \sum_{i=n+1}^{\infty} \left[Q_n - \frac{m^m}{(m+1)^{m+1}} \right] > \frac{m^{m+1}}{8(m+1)^m},$$

every solution of (1) oscillates.

(ii) If

$$n \sum_{i=n+1}^{\infty} \left[Q_n - \frac{m^m}{(m+1)^{m+1}} \right] \leq \frac{m^{m+1}}{8(m+1)^m},$$

for large n , then eq. (1) has a nonoscillatory solution.

As an example of Theorem 2, we have the following.

Example 1 — Consider the nonlinear neutral delay difference equation

$$\Delta(x_n + 2x_{n-r}) + \left[\frac{4m^m}{(m+1)^{m+1}} + \frac{c}{(n+1)^\alpha} \right] x_{n-k} \left(1 + x_{n-k}^2 \right) = 0,$$

$$n = 0, 1, 2, \dots, \quad \dots (18)$$

where $c > 0$ is a constant and α is a real number. Here we have $M = 1$ and $p = 2$. By Theorem 2, if $\alpha < 2$ and $c > 0$, then all solutions of (18) are oscillatory, while if $\alpha = 2$ and $c > \frac{m^{m+1}}{2(m+1)^m}$, then eq. (18) has a nonoscillatory solution. It does not appear that this conclusion

can be obtained from previously know results.

Now it should be clear how to use this approach to obtain further oscillation criteria for eq. (1). In fact, any known oscillation result for (6) will yield a corresponding result for eq. (1). For example, if we let

$$p_n = 2 \frac{(m+1)^m}{m^{m+1}} \left(Q_n - \frac{m^m}{(m+1)^{m+1}} \right) \geq 0,$$

then eq. (6) becomes

$$\Delta^2 y_{n-1} + p_n y_n = 0, \tag{19}$$

where we have

$$Q_n = \frac{M(p-1)}{p^2} q_n \geq \frac{m^m}{(m+1)^{m+1}}. \tag{20}$$

If we then apply an oscillation criteria for this equation, such as assuming that $\sum_{i=n}^{\infty} p_i = \infty$, then every solution of (1) oscillates.

We can also obtain results in case $\sum_{i=n}^{\infty} p_i < \infty$ by letting

$$R_n^0 = \sum_{i=n}^{\infty} p_i,$$

and, provided they exist, let

$$R_n^j = \sum_{i=n}^{\infty} \frac{(R_i^{j-1})^2}{1 + R_i^{j-1}} + R_n^0, \quad j \geq 1.$$

We then have the following theorem that is based on a result of Erbe and Zhang [4].

Theorem 3 — Every solution of eq. (1) oscillates if either one of the following conditions holds:

(i) There exists a positive integer j such that R_n^0, \dots, R_n^{j-1} exist and

$$\sum_{i=n}^{\infty} \frac{(R_i^{j-1})^2}{1 + R_i^{j-1}} = \infty;$$

(ii) There exists an integer $n_0 \geq 0$ such that $\limsup_{j \rightarrow \infty} R_{n_0}^j = \infty$.

We also have the following results.

Theorem 4 — If $\lim_{n \rightarrow \infty} \sup_n \sum_{j=n}^{\infty} p_j > 1$, then every solution of eq. (1) oscillates.

PROOF : The proof can be modeled after the proof of Corollary 2 in [8] and hence the details are omitted. □

Theorem 5 — Assume that $\sum_{n=n_0}^{\infty} p_n < \infty$. If $\liminf_{n \rightarrow \infty} n \sum_{s=n}^{\infty} p_s > \frac{1}{4}$, then every solution of eq. (1) oscillates.

PROOF : The proof of this result can be modeled after results in [1]. \square

Various other oscillation criteria for eq. (19) can be found, for example, in Agarwal [1], Agarwal, Grace, and O'Regan [2], and Agarwal and Wong [3]. To formulate our final result we

define $H_n^{(0)} = \sum_{i=n}^{\infty} p_i$ and $H_n^{(j)} = \sum_{i=n}^{\infty} ip_i H_n^{(j-1)}$ provided the right hand side of this expression exists.

Theorem 6 — If $H_n^{(j)} < \infty$ for $j = 1, 2, \dots, N$ and $\sum_{i=1}^{\infty} ip_i H_i^{(N)} = \infty$, then every solution of eq. (1) oscillates.

PROOF : The proof of this theorem is easily modeled after that in [5] and so we omit the details. \square

REFERENCES

1. R. P. Agarwal, *Difference Equations and Inequalities*, Second Edition, Marcel Dekker, New York, 2000.
2. R. P. Agarwal, S. R. Grace and D. O'Regan, *Oscillation Theory for Difference and Functional Differential Equations*, Kluwer, Dordrecht, 2000.
3. R. P. Agarwal and P. J. Y. Wong, *Advanced Topics in Difference Equations*, Kluwer, Dordrecht, 1997.
4. L. H. Erbe and B. G. Zhang, Oscillation of second order linear difference equations, *Chinese J. Math.*, **16** (1988), 239-52.
5. S. C. Fu and L. Y. Tsai, Oscillation in linear difference equation, *Comput. Math. Appl.*, **36** (1998), 193-201.
6. J. Jiang, X. Li, and X. Tang, New oscillation criteria for first-order delay difference equations, *Comput. Math. Appl.*, **47** (2004), 1875-84.
7. Z. Szafranski and B. Szmanda, Oscillations in certain difference equations, *Tamkang J. Math.*, **27** (1996), 257-265.
8. A. Wyrwinska, Oscillations of solutions of difference equations, *Rad. Math.*, **6** (1990), 41-48.
9. G. Zhang, Oscillation for nonlinear neutral difference equations, *Appl. Math. E-Notes*, **2** (2002), 22-24.
10. B. G. Zhang and S. S. Cheng, Oscillation criteria and comparison theorems for delay difference equations, *Fasc. Math.*, **25** (1995), 13-32.
11. B. G. Zhang and Y. Zhou, Comparison theorems and oscillation criteria for difference equations, *J. Math. Anal. Appl.*, **247** (2000), 397-409.
12. Y. Zhou and B. G. Zhang, Oscillation of delay difference equations in a critical state, *Comput. Math. Appl.*, **39** (2000), 71-80.